C12 - 7.2 - Solving Exponential Equations Notes

Solve for x
X — g2

;x ; ?22)2 42 Check Answer:

2X = 24 Same Base: Make 24 — 42

exponents equal to 16 = 16

x =4 each other -

2%91 — 25 Add Exponents 2x91 _ 95
2x+1= 25 2421 — 25

x+1=5 25 =25

4x+1 — 82x—2

Change of Base

4x+1 — 82x—2

- — 92 ;
(222);:212 (261)_2: 2 4=2 Multiply Exponents 42+1 — g2(2)-2
2 =2 8 =23 43 = g2
2x+2=6x—6 64 = 64
8 = 4x Solve
2¥ % =1
2_ 2_
9x?—x_ 20 20 — 1 Change of Base 2% 7 =1 2 * =1
2 x=0 20°-0 =1 21 =1
x(x—1)=0 Factor 20=1 20=1
1=1 1=1
2x2—3x — % 2x2—3x — 1 2x2—3x: 1
2x%=3x— p-2 272 — x = 1 Change of Base ) % L{
- 22 22%-3(2) = Z 217-3(1) = —
x4 —3x =-2 4 T4
x2=3x+2=0 2—2=1 2—2_1
(x—2)(x—1)=0 Factor 4 )
1 1 1 1
2
325: 3 Take both/sides to reciprocal
( 3)7 5 Ex E 1 exponent of variable
X5 = (3)2 5 2 - x%: 3
Brackets around the left side . (g)
@ x = 15.5885 Brackets around the right side (35 5 =3
3=3

3)
NG, 5
((x+1)§) = (16)2
x+1=3/163
x+1=43
x+1=64

Square root
1 both sides

Exp Page 1

2
(x +1)3= 16
2

(63 +1)3= 16
2

643 = 16

V642 = 16

4% = 16

S

16 =16



